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1       a)      To make a crop of field dried baled hay, list two trailed machines that would be 
used in the field.                                                                                                                                           (2 marks)

b)      State one function of each of the machines that you have listed in 1a).                                      (2 marks)

2       Explain two different advantages and two disadvantages of wrapped big bale silage 
when compared to clamp silage. For each answer state whether it is an advantage 
or disadvantage.                                                                                                                                                    (8 marks)
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3 See next page

3       Explain four factors which will influence grass digestibility in cut silage.                                              (4 marks)

4       State four qualities of Timothy grass.                                                                                                              (4 marks)

5       a)      State two methods of controlling weeds in a grass field.                                                                 (2 marks)

b)      Explain one benefit for each method stated in 5a).                                                                           (2 marks)
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6       List four items of PPE that should be worn whilst riding an All-Terrain Vehicle (ATV).                        (4 marks)

7       Explain four reasons for having the correct tyre pressures on a Rough Terrain 
Telescopic Forklift (RTFL).                                                                                                                                    (4 marks)

8       List four precautions to be taken when parking an All-Terrain Vehicle (ATV) on a 
steep slope.                                                                                                                                                             (4 marks)
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5 See next page

9       Explain three causes of sideways instability which may occur when using a Rough 
Terrain Telescopic Forklift (RTFL).                                                                                                                      (3 marks)

10     a)      State the function of the differential lock on an All-Terrain Vehicle (ATV).                                       (1 mark)

b)      Give one situation where the differential lock on an ATV would be used.                                      (1 mark)

11     Describe three ways of minimising the risk of injury to the operator when working on 
steep slopes with an ATV.                                                                                                                                    (3 marks)
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12     List four ways fuel consumption can be reduced on a Rough Terrain Telescopic Forklift.                (4 marks)
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7 End of examination

13     A farmer has been using a Rough Terrain Telescopic Forklift (RTFL) in a grass field 
throughout the winter. Some pasture damage has occurred as a result of this activity. 
The farmer wishes to maintain the field for grass silage.

Discuss the damage that may have occurred and how the forklift should be operated 
to minimise future pasture damage. Suggest and justify methods to rectify the damage.               (12 marks)


